SLED SUPPORT ANGLE PANEL (25928) TRAFFIC

/PLASTC SLED PANEL (25924) / ONE—BAY FENDER PANEL (25923) DOUBLER PLATES (25960) TRACC PATENT LABEL
(6827)
END SHOE LT (25955 /
< > — e j‘ /1:—1 /1:—1 /1:—1 /1:—1 qz—l = ?‘
1 [o] [o] [o] [o] [o] [o] [o]
1 1 H H H p 7 |
o :gvi ?%‘T T ° o o o o o [0 06 o o offe_o o o ? [0 o "o T i :Ho o [0 o o fe- o o] 3/"?«\"? offle_—o = o [o o ’}o ;; ,?J‘ oo |[le__e \: T el o o ‘5; OO Oo Oc )o: o o
—i- e o e e P B 6 6.5 .9 o o][c_ s o o [ o 6.0 o o|lo o [o 6 0 oo o o oo ol[lo o o o [s o [0 o ol o ol o s s o ol o oJo o o ol S -
i o o o o o o of‘o o o o o o o © o o o ole o o o {d ;a*o'o;fm%ﬂo o o 6 o b oo e{ko}kg‘% sffle o o o o o}}e’%—;{o oo ==& I %76“0 o\oooooooo)o: o o o o o
] | L > o o e PR \o ° l o oo o o ofle_o o o [dq fo_o o o of|[o o [o o o - o ol % [o-o ol[[o_o o o [o o [o_o o o o]fle_o [c_o 9 o olo o o of-e o o o
1 \ \ H H \
- NN = L = N A N Sl N = = JEE |
END SHOE RT (25954) E — ] \ - - \ - - = —
SHIPPING PLATES (25958) \BASE ANGLES (25959) \LR\P PLATES STAGE 2 (25963) \LR\P PLATES STAGE 3A (25921) & (25920) \LR\P PLATES STAGE 3C (25920) & (25920)
BEAM GUIDE (25967)
TRAFFIC
— 26'-1"+
(7950mm)
SLED WELDMENT (25970)
SLED SUPPORT ANGLE PANEL (25928)
S;S:@HEXQNWU/TM@};%?)HD BOLT (5306) PL% WASHER (19757) SLOT PLATE WELDMENT (25976) @ ® ® 3
i J—— "
5/8" FLAT WASHER (4372) 04— -t A - B— E/FRAME WELDMENT (25971)( E«—L?Yg 8'(86mm) F+=— BACKUP FRAME WELDMENT
2 PLACES EACH SIDE i L) b Pl il il b b ﬂﬁpﬁ/ (25972)
OB l**’:ii””””:\i\ijﬁ} lol Lol Lol o1 Lol Lol | \f
5/8% x 2 1/4" HEX HD BOLT (5306) & ‘\\\\ 4 \;C H‘ ‘?“ 4&@ :{‘% o ;@ Jg:@ \‘O‘ﬂ
5/8" HEX NUT (3361) I§ \:\\ i c c c c c c il
5/8" (2) FLAT WASHERS (4372) 2 : :: : = = ::::‘: = Zi}:l‘:&:/SLOT PLATE (25976)
3 PLACES EACH SIDE in R R R R R R | Y7 5/8' x 31/2" HGR BOLT (3435)
(I 1o
Lol Lol Lol j@ Lol Lol D (TYP AT BACKUP FRAME)
[ [ [ [ [ [ [
o o o o o) o loe o o o o |lo o o o) o o o o o 4 o) o o ® o) o |lo o o olle o o o o
I} | || [l I L1 !
° o H ° o H ° o ° o H ° o ° o \
| | | | | | |
- S+ — S+ — S+ —
A B C i | 77 1/494mm)
I

COMPLETE BASE ASSEMBLY (25925)
(SEE NOTE 2)

REF.

FUROTRACC BILL OF MATERIAL (PN 25926)
NEQEER QTY DESCRIPTION LBS/EA| Kq/EA 3| BT | LH [09/07/11| REVISED BILL OF MATERIALS (5/8" NUT & BOLT QTY)
e » SHOP _HARDWARE (GALV A153) 2 | BT | LH [03/16/07 UPDATED NAME CHANGE, REVISED B o M, CORRECTED OAL
A 189737G | 4 11/4'x3"x2 1/4"TRACC WSHR 0.54 2 PART VATL ) OR SECTIONAL VIEWS SEE SHEET E2 OF 2. : ’
25970A | 1 |SLED WELDMENT 1854 83.7 NUMBER Qry DESCRIPTION SPEC 2.) SEE DRAWING SS1028 (PN 25925) FOR ASSEMBLY 1 CC | LH [10/07/05 ADDED SLED SUPPORT ANGLES & NECESSARY HARDWARE
25971A | 7 |FRAME WELDMENT 604 272 3253G | 2 |HITCH PIN CLIP OF ALL BASE COMPONENTS. CHK'D DATE REMARKS
25972A | 1 |BACKUP FRAME WELDMENT | 744 33.5 33406 | 28 |5/8" HGR NUT AS63 GR A 3. UNIDIRECTIONAL UNIT IS SHOWN.
25923A | 28 |EURQOTRACC 44" PANEL 274 12.2 & 3361G | 70 |5/8" HEX NUT A563 GR DH 4. BIDIRECTIONAL UNIT IS AVAILABLE; WITH REINFORCED LOWER PANELS 9)»))))»)"”“ D H g A @ @
259248 | 4 |PLASTIC SLED PANEL 4 | 18|  A\| 33916 | 56 |5/8'0 x 1 3/4" HEX HD BOLT |A325 SEE S5 1030 (PN 25927) TR
25975A | 2 |SHREDDER ASSEMBLY 6# 2.7 3435G | 28 |5/8"¢ x 3 1/2" HGR BOLT A307 GR A EUROTRACC WO KD
25976A | 28 |SLOT PLATE 0.44 2 43726 | 124 |5/8" FLAT WASHER F436 CRASEL ACNUSE‘L%U Aé\T()TNENchS‘ECGﬂgENRM‘NAL ce
25925A | 1 |ASSEMBLED BASE(NOTE 2) [16484 | 748 44256 | 2 |3/4" X 2" CLEVIS PIN SHOP ASSEMBLY DETAILS SCME - NTS,
25928A | 4 |SLED SUPPORT ANGLE B# 3.6 5306G | 14 |5/8"¢ x 2 1/4" HEX HD BOLT |A325 PN 25926 DATE 09/15/05
6827B | 2 |TRACC PATENT LABEL The drawi T the miormation shown T iahted by Trinit ENG. FILE # SS1029-01E
e drawings and the information shown thereon are copyrighted by Trinity
TOTAL WEIGHT (EXCLUDES SHOP HRDWR) 31564 [1431 Kg Highway Products (2011) and the sole property of Trinity Highway Products. A TRINITY HIGHWAY PRODUCTS’ LLC. SHT.No. E1 OF 2
Neither the drawings nor such information is to be used for any purpose 2525 STEMMONS FREEWAY, DRAWNG 10 Py
other than that for which it was specifically furnished from Trinity Highway ‘ ' . .
Products, LLC., nor is any reproduction authorized without written permission. DALLAS’ TX 75207 SS WOZQ/PN 25926




